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Answer ALL questions:  

1. Find L( e2t + e-5t ). 

2. Find L( sin 3t sin 2t). 

3. Compute: L-1 ( ଵ

(௦ାଵ)మ
 ). 

4. Find L-1 (sF(s)). 

5. If Fs) = F{f(s)}, what is F{ e 

6. Show that if a>0 , F(f (ax)) = 

7. Define Fourier Cosine transform.

8. State Parsival’s identity. 

9. Obtain a partial differential equation by eliminating a and b from z = ax+by+a.

10. Solve: x +yడ௭

డ௫
 = 0. 

Answer any FIVE questions: 
 

11. Find (i)  L( t sin2 t )  (ii) L( t

12. Find  L( ୡ୭ୱ ଷ௧ିୡ୭ୱ ଶ

௧
). 

13. Find the inverse transform of 

14. Show that F { xn f(x) } = (-

15. Compute: Fc { 
ଵ

ଵା௫మ
 }  and F

16. Solve the integral equation 

function. 

17. Solve: p+q = pq. 

18. Solve: p3 + q3 = 8z. 
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SECTION  – A 

                               

If Fs) = F{f(s)}, what is F{ e iax f(x)}? 

Show that if a>0 , F(f (ax)) = ଵ

|௔|
 𝐹 ቀ

௦

௔
ቁ. 

Define Fourier Cosine transform. 

 

Obtain a partial differential equation by eliminating a and b from z = ax+by+a.

SECTION  – B 
 

 

t )  (ii) L( t2 cos 4t). 

Find the inverse transform of ௦ିଵ

ଶ௦మା௦ା଺
 . 

-i)n ௗ೙

ௗ௦೙
F{f(x)}. 

and Fs{ 
௫

ଵା௫మ
 }. 

Solve the integral equation ଵ
ଶ

∫ 𝑓(𝑡)𝑒ି|௫ି௧| 𝑑𝑡 =
ஶ

ିஶ
 ℎ(𝑥) ,where h(x) is the given 
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Obtain a partial differential equation by eliminating a and b from z = ax+by+a. 

  (5  8 = 40) 

,where h(x) is the given 
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SECTION  – C 

Answer any TWO questions:  (2  20 =40) 

19 (a) Find the Laplace transform of  (i)  
ୣయ౪ିୣషమ౪

௧
 (ii) 

௦௜௡మ௧

௧
.  

(b) Find 
 

1
22

3

6 13

s
L

s s


  
 

   
 .      

20 Using Laplace transform solve  
ௗమ௬

ௗ௧మ
+  6

ௗ௬

ௗ௧
 +5y =e-2t given that y=0, 

ௗ௬

ௗ௧
=1 when t=0. 

21 (a) If F is the Fourier transform show that  

(i) F { af(x) +bg(x) } = a F{f(x)}+ b F{g(x)}                                                                                                                                                                                                     

(ii) F{f(x-a)} = eias F(s). 

(b) Prove that (i) Fc {xf(x)} = 
ௗிೞ

ௗ௦
    (ii) Fs{ xf(x)} = − 

ௗி೎

ௗ௦
 . 

22 (a)   Find the complete solution of 1 + q2 = p( z- b). 

(b) Solve p2 + q2 = z2 (x + y). 
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